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(1) FHREMEHE (k)
LNGEHHEHE x 09576 + LPGEH@EHE x  0.0466
= 53,110@ x 09576  + 56,760 X 0.0466
= 53503.152 [
- 53,500 (10ARFEDIHEKZMIERA)
(2) [RFMTIHEZEENEE (Fidk)
=% R S i — 5 R HE A
= 83,350 — 53,500
= 29,850
- 29,800 (100MKFEDIHEEIWIET)
(3) IRHE LB - — A R/DFEHAEHITR (FiA)

-0.081 x FERMEKRLESHE - 100A x (I+HHEBHRER)
= -0.081 x 29,800 ~ 100 x (1+008)
= -26.06904H
- -26.07M (NEAEE2RIRFBHDIHRERD/NSWLAIZEIYIET)

(4) [RHEFZEEM- RRREREIR (L)

-0.081 x [FEEMEWEEIZEE - 100 X 1.2 X (1+HERE)
= -0.081 X 29,800M +~  100M  x 1.2 x (1+0.08 )
= -31.282848M
- -31.29 (PMEAEF22HIRBOIRBEHD/NESWNAIZYTIYIET)
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1 F X 7 TEEXHEE(A/A)| RHEHSEBEBEEH/m)
A [omAB20mET 669.00 113.30
B |20m%#BZ200mET 1,647.00 64.40
C |200mZBZ55E 3,441.00 55.43

(GtEf) FARE29MDIZE
[EREEAES (1,647H) +HE2HE 2 (64.40/m* x 29m*) } x 1.08=3,795[ (/M S LI T Y T)



